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Section — II: English

g lete the pa'ssage/sentence.
i tion to comp
prlatc op

' Answer Q.16 to Q.19 by choosing the appro (Q.17) a curious mixture of varied

= g Sy aeenee : ]
Man ...... (Q.16) is belicved to have evolved from ape o1 el e veaior, FlEalE0 Ak ts
motives. He is not only ...... (Q.18) subjects of needs -+
satisfy his needs and caters to his desires-
16. (A) which (B) when
JE)  while . (D) who

17. (A) am (B) are

(C) 1S \__;(’D) has
18. (A) to \,(B) the

€ a ) (D) an
19. W but (B) and

€) to (D) the

20. Convert into passive voice ) —
“We must face the new situations with a creative m‘md. J |
(A) New situations need faced by us with a creative mind.
(B) New situations must face us with a creative mind.
L () New situations must be faced by us with a f;rcatwe m_md. |
(D) Everyone should face the new situations with a creative mind.

21. Give a word most similar in meaning to the word ‘exhorting’?

(A) urging \(B) supporting
(C) demanding (D) clarifying
22. Opposite meaning of the word ‘seeks’ is --------.
* (A)/ deplores (B) avoids
) vanishes (D) approaches

_ Direction : Which option fits best in thé\ﬁanks in Q.23 to Q.25

23. I ------—--- we should accept the offer.
think (B) will think
(C) should think (D) would think
24. Neither he nor his servant ---------- ;
(A) leave (B) have left
\(O)has left (D) s left
- 25. My sister is ---------- than [ am
(A) more stronger (B) most stronger
AC) stronger (D) strong
;\T

i Give one word for the following phrase -

26. Ong who eats everything

% ) - omnipotent (B) insolvent
| (C) irresistible (D) - omnivorous
5
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. ce in indirect speech.
Select the alternative which best expresses the same senten

27. Hesaid, “can you sing?” and I said, “no”.
(A)  He asked me that could I sing and I refused.
(B)  Heasked me if I could sing and 1 replied that I could not.
(C)  Idenied, when he asked me if you could sing.
(D) He asked me if I could sing and I said no.

Read the following passage carefully and answer Q.28-30.

The Aryans were keen hunters and caught lions and hunted boars with dogs. But their fE{VOurite
sport was racing in chariots drawn by swift horses. After the races, they had open-air dancing and
singing. Like other ancient people, they worshipped at first many Gods of the storms. For a long
time their chief God was Indra. As centuries passed and the Aryans settled and developed their
farming and trade in the conquered lands, the people became divided into four main castes, the
Brahmans, the Kshatriyas, the Vaishyas and the Shudras. The duties of these four groups were
described in ancient laws called the ‘Manu Samhita’ or the Laws of Manu.

28. The favourite sport of the Aryans was

(A) hunting (B) chariot race
Z) horse race (D) dancing and singing
29. For a long time, the chief God of the Aryans was
(A) Sun God ~ (B) the God of Storms
~C) Indra (D) God of Sky
30. Who helped the Aryans in hunting?
YA) Lions (B) Dogs -
(C) Bears (D) Their God

Seznned W CaniScanner
e e Y -
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31 to 65) four possible choices
s have i
re to select the correct answer and fill in thcb(c)cmnffw:n, SUESE
sheet.

which only one is correct. You 2
31 & 65 ) =TT I fremew fw e ) R A

i - g uvd & forg (9.49.
v e 21 AT |l I GART

31.  Which of the following is not true?

(A) 8/7+3/8=3/8+8/7
(B) 8/7 x3/8=23/8x8/7
(C) 8/7/3/8=8/1x8/3
(D) 8/7-3/8=3/8-8/1

32.  The product of a
and its reciprocal is ==—-—>"" !
(A) 1
(B) 0
(C) rational number itself
(D) reciprocal of rational number

hich of the following number

non zero rational number

Square of W
will have 6 at its unit place?

(A) 38 (B) 24

(C) 32 (D) 45

How many natural numbers exist between
the squares of 28 and 297

(A) 30 (B) 58

(C) 56 (D) 60

/256 ++/81 is:

(B) 6
(D) 8

©) 7
Which one of the following will h
h3?

root ending wit
(B) 46656

(A) 35937
) 39304 (O 50653

04 x 0.04 * 0.04="7
(B) 0.00064

(D) 0.000064

34.

The value of

(A) 5

35.

36. ave cube

37. 0.
(A) 0.064

(C) 0.0064
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for # & F & T T8 7
(A) 8/7+3/8=3/8+8/7
(B) 8/7%3/8=3/8x8/7
Ty 8/7/3/8=8/Tx8/3
(D) 8/7-3/8=3/8-8/1
u A-A I FEAT Ud 6h A H
UrE B

A) 1

\By 0

(©) o wedn @

(D) TfeT HEAT 1 G

ﬁmﬁﬁﬁwﬁw%aﬁﬁm%@m

B) 24

(D) 45

31.

32’0

33.

34.

(B) 58.

\eA7 30
(D) 60

(C) 56

/256 + /81 I A €
(A) 5 (B) 6
ey 7 (D) 8
36. b # frg wem ¥ TS BT 3
gt ?
(A) 35937
(4©) 39304

37. 0.04 x 0.04 x0.04=7

\¢A70.064  (B) 0.00064
(C) 0.0064 (D) 0.000064

3s.

(B) 46656
(D) 50653
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38.

The least number by which 81 be divided
to make a perfect cube is
(A) 1 (B) 3
© 2 (D) 4
The standarq form of 12300000 is --------.
(A) 1.23 x 108 (B) 12.3 x 10
© 123x10" (D) 123 1¢°
Zx(ZH*=9
A) z7 (B) z7
©zZ oz
If a family of 10 persons purchases ration
for 15 days and five guests join the family

from the first day. How long will the ration
last?

(A) 15days (B) 12 days
(C) 10days (D) 8 days

If the distance travelled by a rickshaw in
one hour is 10 km, the distance covered by
the same rickshaw with the same speed in
one minute will be: .. '

(A) 250/9m (B) 500/9 m

(C) 1000m (D) 500/3m

If Nidhi purchases a book of Rs. 500 and
GST is 12 per cent. She will pay Rs.

Ll L LT

39.
40.

41.

42.

43.

(A) 60 (B) 560
(C) 640 (D) 660
If a number is increased by 30% and then
decreased by 30%, the net increase/
decrease percentage will be:
(A) 9 (B) 4

' D) 1
(Tc;l)e (ljgmpound (interest on Rs. 10 @ 10%
per annum for two years will b
(A) Rs.2 - (B) Rs.2.10..

440 o

45.

e -
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55 o M'ﬁmﬁglaﬁméﬁm
g g e T B R .
A) 1 (B) 3
39. 12300000 T Zﬁ'm'" b ";"2";"1031
bﬁg 123x107 (D) 12310’
A e (TN ?
Ay Z”’ (B),Z
ez’ MZS |
41. af: 10 @nii @ g@ TREr 15 @ &1 A
wdear ¢ 3k uga fo & i AgAT
T §| g e fraw fom =wm?
A) 15f@  B) 12f@
@y 10fm (D) 8
42. af o R | 92 # 10 km T 99 FA
? @ 3 iy A 3@ fean g1 o e A
---------- R g Y S|
L@ 2500m B) 500/9m
(C) 1000m (D) 500/3 m

43. 7t Ffr 500 = Tow A v T T
® IR Imw A w A 12 Wi & @
SEF TR 37 i

Lo \ @60 - B
60 560
(C) .640 (D) 660
TR 0% Bt g
Ve SRR, |
W7 ®) 4
| (C) 16 D) 1
45. 10 & R 10% ot
R A
T 2 ¢ =
(A) 2= (B) 2.10%.

(C) Rs.2.20 (D) Rs.2.30
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46.

47.

48.

49.

50.

51.

52.

53.

. 1 2.2 de
Which of the following is like 32z°y°x?

(A) 822 x 3p? x x?
(B) 6z%x 6x%xy°
(©) 8}’2 x 4x2 x z
(D) 6z x3x" xy

(8]

2

; . o 2.3
The irreducible factorisation of 63z°y'x

(A) 9:2'1'{\‘

(B) 977 x Ty’ x 2x
(®) 972 x Ta X yz
(D) 32 x Tx x 3y’

da_2b 3_0_2_1’]:?
5 35 3
3a2 20’ 9a> _4b*
W 3R
0 4 g 92 40
© Z5-5 ® 333
(2005) — (1995)° =?
(A) 40000 (B) 4000
(C) 4025 (D) 40225

The area of a square is 9x” + 24xy + 16)”.
Its side will be:

(A) 3x—4y* (B) 3x-4y

(C) 3x+4" (D) 3x+4y

If 3x—4 (64 —x)=10, thenx="?
(A) 133 (B) 38
(C) 286 (D) 66.5

The present age of the father is three times
than that of his son. After three years the
age of the father will be 7 years more than
twice the age of the son. The present age of
the son is ------- years.

(A) 8 B) 9

©) 10 (D) 11

The sum of five consecutive multiples of 6
is 2040. Find the largest multiple.

(A) 420 (B) 528

(C) 456 (D) 450

www.sdcampus.com
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47.

48.

49.

50.

s1.

52.

53.
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327%)°x* % W 9 T 7

(A) 82° x 3)? x x*
(B) 62> x 6x* x y*

(C) 8% x4x? x 2
(D) 627 % 3x* x
632%°x 1 TS THETS - 3
(AY 97y
(B) 922 x 7" x 2x
(€) 922 % Txxy’
(D) 322 x Txx 3y’
[3_‘9_{__2_!1)(93_29):.9

s 3 J05 3

W 944
575 ® 5
02 4 o 94 4

© 355 O3
(2005) — (1995)> =2 Q/e"
(A) 40000  (B) 4000
(C) 4025 ( (D) 40225
w T w1 %A 9% + 24xy + 167 2l
ECETI | R g
(A) 3x—4y* (B) 3x-4y
©) 3x+4HA_D) 3x+4y
e 3x-4(64-x)=10,Ax="7
A) 133 \(BY38
(C) 286 (D) 66.5
e &t v srg o= i sy ¥ i eft

| A ol g R o3 g R I F
TR A7 A sl B T A T

TG —eemeemee T Rl |
A)8 L&) 9
©1ww - @1
6 ¥ Ui FAEE U F AW 2040 B
T® T U I ) Y.
(A) 420 \A«B) 528 jo ﬁg;
(C) 456 _.'(D) 45(3/3(2; 3

Y
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54,

35.

S6.

Product of y and :
54, The value of y is: Yy and 13 give us
n :
%C)) § Eg) 69/13
) 4

I D) 120
D a quadrilaters] ABCD, AB = 6 cm,

180°. This jg -.___

55.

56.

PYQs 9th

yaﬂiwaagumﬁﬁﬁl -
a1y A T

A) 2 (B) 69/13

( )3 (D) 4 *
@"’@ﬁ“%ﬂﬂaﬁw 3:4:5:6%3131113.3?

&) wad @9 I o= 2|

(A) 160 ) 80

afy =qis ABCD # AB = 6 cm,
CD = 8§ cm 3K F A #K D H AW

(A) parallelogram (8 7y, 180° 2| T FIHA - d
(C) rhombus o) S;‘:Ia’fezmm (A) AR B) @HAH

37 One of the diagonals of 5 rhombus i ] | il -(D) a;fﬁﬂf
to its side. Its larger o s is equal | 57, ;‘% TF GHEgEs | T SEH eI
(4) 1200 (B) 9o+ ERER O%I ESEaIC 0 | — arm|

T ) ‘B1

- The diagonals of a rho

—— be----j?_uz I:rze 5cmand7 |58, ws TGS % fast 5 cm 3tk 7 om 3
(A) 12 B) 175 BRI P e 7 S B
© 35 .- - © 70 L%) 12 B) 17.5

59. The area of the largest triangle that can be 59, mgn_; SL e 3]%2) 70
fitted into a rectangle oflthe length L units ST ¥ a;"ﬁﬁ B & gy C)
and width B units will be ---------- units?, kL | T Ty freger
(A) LB/3  (B) LB/6 i ——— 2|
(C) LB/4 (D) LB/2 | [© Lek (g) LB/6

60. 360 m’ water is used to irrigate rectangular | 60, W 40 o FF%(@L LB/?
field of length 40 m and width 18 m. The ¥ 3 N 18 m R
height of the water level in the field will be S %al: ﬁ“ﬁlﬁ L] e a ?I'R-ﬁ“ l%iltl
--------- m. o
(A) 05 (B) 1 (A) 0.5 Ry - m Rty
© 15 (@ 02 ©1s o b

61. If the side of a cube is increased to three | 61. A g o= £ ;ﬁq
times, its volume will become ----=-=-- SHET e = RIS i STq G
times. oy T & ST
(A) 6 & ©2  ®9
(C) 21 ®) 27 (D) 27

"/ 10
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62. The radii of two cylinders arc in the ratio | 62. Q QFF-FE Bl ﬁmrraﬁ W AE 122 ® 3k
of 1:2 and heights are in ratio of 2:5. The TR At 2:5 3% B =% e e
ratio of their volume will be: T ---eoeemee BT
(A) 1:10 (B) 1:8 (A) 1:10 (B) 1:8
©) 1:5 (D) 2:9 U B9 (D) 2:9

63. How many cubic metres of carth must be [ 63. TH 7 m &l IR 2 m =g F1 Fat ey
dug to construct a 7 m deep well and & fou fFaft cubic ez ﬁ;@ G
diameter is 2 m? gt ?

(A) 35 (B) 32 (A) 35 (B) 32
(Cy 22 (D) 14 (C) 22 ub) 14

64. A dice is thrown two times. The sum | 64. TH UT®H & QP TR HH AT Bl I8 K
of numbers appearing on the dice can AW AT WA F AR F W gRomm
be -------- outcomes. annnnr == Tl ATRELE |
(A) 5 (B) 6 (A) 5 (B) 6
©) 1 (D) 18 \_A€) 11 (D) 18

65. The range of the following data is - | 65. fa rfEsl &1 TREL --oomemmmm I
—6,-8,3,2,1,4,2,5 -6,-8,3,2,1,4,2,5
(A) 10 (B) 13 (A) 10 (B) 13
©) 11 (D) 8 ©) 11 \(D)> 8

Space for rough work @ & & foro s
DS
)
‘ \
5%
<7 54
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jence
Section — IV : General Scier

Directions: For each question (Q. N
only onc is correct. Yoy are to select

HFHT - 1V ; wrETR fae

05. 66 to 100) four pnssilllt"
the correct answer and fill in

- ollt Of WhiCh
. . pave been given
choices

OMR sllt'(-'t-% frit & FAA TF AR

;éar: Wa:ﬁmw%ﬁ"l (R4, 66 @ 100 T) wre wwTfyg g faeed &0 T &
W g.l [Bﬁ_trq‘m‘ aﬁafim%| _---%I
66. Lactobacillus 1S a/an ———______ EYa T, =m===
. 66. aFrafued T e
(A) Bacteria (B) Algae A) o (B) ®
(C) Protozoa (D] Fungi L(/' [ ) F»ﬂﬂ (D) hd<h
A is used in sowi Rl # guam 2t @l
. Il sowing. 67. FA A AT )
(A) Sickle | (B) Hoe (A) YB) EI;EF'”
(C) Seed Drill (D) Sprinkler ©) Hre fgm (D) foIFR
68. Influenza Is caused in human beings | 68, AHg # W ff’T """""" F FR
by —% - I B 2
(2) bacteria (B) virus \ () Sframy (B) ﬁl'flTUl
( ) amoeba (D) ﬁmgus (C) 3-U=ﬁE!T (D) 'CF,IEB[
69. Smallpox  vaccine was discovered | 69. B urar ¥ A C 51 Gl 7 e - f——
R 1 Fal
(A) Louis Pasteur (B) Robert Koch (AY qE IR (B) (& &=
(C) Edward Jenner (D) Fleming (C) TaE IR (D) waifi
70. Which one of the following is a thermo | 70, fir i ¥ R wifes A G 22
setting plastic?
(A) Nylon  (B) PVC (A) TEETH N (B) @
(C) Rubber (D) Bakelite _ - (©) =3 (D) ez
71. Which one of the following reacts 1. fwfaf@es & 3 fegn B T ¥ @
vigorously with cold water? st Bt R 7
(A) Sodium (B) Carbon (A) eifeam (B) ®refq
(C) Aluminium (D) Magnesium (©) Wﬁﬁ'ﬂﬁ ‘@» ﬁ'ﬁﬁm
ich property of copper is used for |72, R & g ED| -
72.  Which property I TR T §
making electric wires? SART TR S 27
(A) ductility (B) good conductor (A) T \B) =3 .
(C) insulation (D) being solid © TF (D) 3y gy
73.  Which of the following is not a constituent | 73, fiefifaq % ¥ FH-TT Y 1 :
of petroleum? el R 7
(A) paraffin wax (B) lubricating oil \sA) R A (B) e 3
(C) coke (D) petrol (C) |+
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12


https://www.sdcampus.com/
https://play.google.com/store/apps/details?id=com.sdcampus.app&pli=1

74.

5.

76.

T

78.

79.

80.

81.

Which one of the following is not a natural
resource?
(A) water
(C) soil

(B) minerals

(D) rayon

The black thick liquid with unpleasant
smell is known as -————--eeee ]

(B) coal-tar

(D) coke

(A) kerosene
(C) petrol

Species is found exclusively in a specific
habitat. :
(A) endemic (B) extinct

(C) endangered (D) fauna

The environmental impact of clearing large
patches of forests for cultivation of crops is
(A) soil pollution (B) soil fertility

(C) soil erosion (D) soil conservation

The leaves are green due to ----------.
(A) ribosome (B) mitochondria
(C) chloroplast (D) chlorophyll

Which one of the following is found in

cells of plant, animal as well as bacteria?
(B) cell membrane

(D) cell wall

(A) chloroplast
(C) nucleus

Hen ~—s=5 .
(A) undergoes external fertilisation

(B) is oviparous

(C) is viviparous

(D) undergoes internal fertilisation

In amoeba reproduction takes place by ---.
(A) external fertilisation '

(B) internal fertilisation

(C) budding

(D) binary fission

13
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74. fa @ @ 9 @ AHlas dewa T8 €7
(A) ST (B) afr=t
(C) 74 vm%m

75, Wf/@ T AT FTEAT TGN TF oo
Feerdl ¢l
(A) &afew (B
(C) g ) FF

16, wheiw wm w1 8w ffwed
qatara # Wi S @

() T B) forge
(C) dwerTd (D) WS

a%@@aﬁ@ﬁmﬁ%ﬁﬂmaﬂﬁ
-1 Tt ) fore e usdt R

@ww (B)w#w
(C) T I9GH (D) FaT &

78, GRTAT —oeemeee 3 FR B BT B
(A) TR (B) ATEIHISAT
(/gﬁﬁm (D) uvfeRa

79. f & @ v Uy, Hﬁqawﬁamﬁ
Ffret # 9T ST 87 .

\-(*A)/%ﬁﬁm  (B) Wiy fawdt
(C) = (D) =i firf

77.

81.

[P.T.O.
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ot & AT Y

82. Insufficient production of --------- in the | 82. %:‘-rcﬁ;: yq;ﬂf @ =
tadpoles leads to their incomplete ufea 2
development. T (B) ?{ﬁﬁqﬂ
(A) thyroxin (B) insulin \AK) qca (D) arfeaTq
(C) nutrients (D) ducts (o) ) 3| G e Wﬁh

83. At the onset of puberty --------- is relcased | 83. TlEATFH 77
by testes. Bt Rl
(A) thyroxin (B) insulin (A) wraifaad (B) Eﬁﬁil
(C) testosterone (D) adrenaline (o T (D) i
84. A gas filled balloon moves wup|84. THF g A W T HH <l ST R
because -------. Fifeh:
(A) gravity force does not act on the W) 39 W gﬁm ECR UG
balloon
(B) there is no frictional force on the (B) 30 W &g TY &I et
balloon
(C) upward force on the balloon is more (C) W &t AR T ATAT I ey
than gravitational force I ¥ Afw Bar 8 ‘
(D) upward force on the balloon is more \(})) TR A AR R AT I T qe
than frictional force sfire Bra ?

85. Two thermocol balls held close to each 85. UE-9TH W@l i Y F?f ﬁ% ———
other move away because Of ------e--- e G ¥ RO TH-GR o ® Tt
force. Eici .

((2) magr_ltztti.c | (11:3)) (;lfect.rostatic (A) Ta:ﬁq (B) a@ﬁ
) gravitational (D) frictional ',\,(2) W ST

86. f\:./ea.rmg of cartilage in the body --------- 86. IR # IRy =7 BHT SRR ww
ICII.OI]. ]9 aﬁ At %l :
(A) increases (A) =T

(B) decreases (B) weTan
(C) does not effect o
(D) may increase or decrease \g ) :Ijl
GE
87. The handle of a cricket bat is usually rough | 87. e % . - aq fro
7o SR S .
A R B @y
(A) get more run (A) stfir -
(B) get ball on bat (B) i N a;‘a A
(C) decrease friction \KS T Ty L
(D) increase friction (D) ooy grap
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88. If we increase the vibration i an object e JHh1 mﬁ BIA —mmmmmeeee %‘
time period will —--------- \_(X) gt Jqard H agan
(A) increase in same proportion (B) Ichl FHchATIATT A =g
(B) increasc in inverse pmporliﬂﬂ C It AT A e
(C) decrease in same proportion (©) ¥ 5
(D) decrecase in inverse prnpnr[ion (D) EEIdﬁﬁ"g;ﬁg ?‘I’{Tﬁi £ Hl’c{ﬁq
89. Ultrasound has ---cceeeeee frequency of | 89. R '“h“-““
vibration. @—Cﬁ %l
(A) 20 Hz ) (A) 20 Hz
(B) between 20 to 20,000 Hz (B) 20 ¥R 20,000 Hﬁ 2w
(C) above 20,000 Hz WO’OOO Hz &
(D) less than 20 Hz (D) 20 Hz | F
90. Iron is painted to ---------- 08, TR W -——-%aums %@, SR
(A) give shiny appearance (A) T TARIR A
(B) keep it for long \«B) 30 s T TF W@
(C) save it from corrosion (C) T8 IRe ¥ 59
(D) save it from electric current (D) G aﬂﬁ FE A 9
91. ---—-—- of the following is not good | 91. frafafaa & & - IEIE:I_EI £l
conductor of electricity. AT A6l ordTl
(A) Tap water (B) Vegetable oil \A) EiE & 9l (B) aefd o
(C) Vinegar (D) Lemon juice (C) foam (D) :ﬁ;{\'q,-[ o
92, Earthquakes can cause ----------- LR oo B D L —— T ]
(A) Tsunami, Floods, Landslide (A) g, |Tg, YEEeH
(B) Tsunami, Lightening, Floods (B) g, afeq, =g
(C) Tsunami, Lightening, Landslide ) W, afea, P GERE
(D) Floods, Lightening, Landslide (D) «1g, qfea, L GEL G I
93. When you rub the back of a plastic pen in | 93. W& 3T % wifees ¥ Ft €D T AT
your hair and bring it near a small piece of Al H TG I FRE & DI ghs & T4
paper it attracts paper dug tQ ----------- AT E AN AT TV oo F FR Sl
A e . AR i war ®l ¢
8 e
e mz(;;z;tatfl-c force (B) frlctnqn (A) ¥ == \B) o1 | ‘.
c ity /
5 ! orce (D) gravity | (©) W T (D) W@T
. If 'the object is 5 cm away from the plane | 94. afe =g & qAG g ﬂ 5 ﬁ & 8
m}:‘ror, t_hc image formed by it and the A Ta g fiffe sl R TG =
(()‘Aj)ect Wﬂl be e e Y 111 apal't. m — @Tﬁ'l ;
25 _
R oL W e,
) 15 (©) 10 ¥ ®)
www.sdcampus.com. 15


https://www.sdcampus.com/
https://play.google.com/store/apps/details?id=com.sdcampus.app&pli=1

95. A ray of light can pe reflected

96.

97.

98.

99,

1 00‘

times by two plane mirrors placed parallel

95. ta-g % IHE K

PYQs 9th

@ Q1w

-

il grar serar 1

and facing each other. TRt & At 2l
(A) 2 (B) 4 B) 4
i (B)
(C) 8 (D) infinite S
Planet Venus is also known ag _.____ % Sk 1 +ff Fed el
----- . 9 T
(A) Pole s‘ta-r (B) Morming star = — (B) ara
(C) Star Sirius (D) Jupiter ::)) qd T (D)
A i - b AL
Star 1s fifteen light years away from |97 TH g gedl 8@ 9me FhI g ” 2l
5 ad

carth. The light emitteq by it today wil] pe

seen after —eeeee____

5 Years.
5

_ (B) 10
© 15 (D) 30

Tree plantation month of Jy]
€very year is known as
(A) van Mahotsay

(B) plantation month

(C) forest conservation month
(D) wildlife month

y/August

—————— -- is responsible for acid rain,
(A) Carbon dioxide

(B) Sulphur dioxide

(C) Carbon monoxide

(D) Chlorofluorocarbons

Which of the following groups contains all
synthetic substances? LA

(A) nylon, terylene, wool

(B) cotton, polycot, rayon

(C) PVC, polythene, bakelite

(D) 5cry1ic, silk, wool

99.

a1 fe@rd 2|
(B) 10

(A)
\(9)1 5 (D) 30

98. Wit Seiré /ared &1 WY SR AT ATE
\AA) T HEreEa
(B) dtei &t AT
(C) a1 &=&w Are
(D) T 9 wrg
---eeeee- 3T 61 F forU IR R
(A) W= ET33TTEE
\(B) TR 33T
(C) Fe AtsriaTEe
(D) wﬁﬁﬁaﬁﬂw
100.%%@3@1?‘%%%#@&3
T 7
(A) =T, e, 3
(B) Fum, uiferaie, Yaiq
(©) At 4, wifefr, ez
\D) Thkfer, Yem, o

Space for rough work
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